10

Ratio to CDF
[N

0.5

1800 Ge

1 ! [~ r Tt
- Sum(pT) vs Ag (ij1 > 30.0 GeV) -
| m CDF N
= --3-- Herwig 7.2.0 default =
— —— Pythia 8.301 default =
m Y Sherpa 1.4.5 default —

“Nm

!-';G‘
| .
:
|

\ ppbqr

Underlying Event
A B I B DA

— . AN
K : u 39 =
B . : ’ HE R/ i —
R T o, e .
- ¢ |5 ‘!_i" ) ¢ ¢ _
B B2 iAol LALAAL L wmmBRATT i Y |
LTI = = .___!_C"“A "I__HEHNF! % 74 3 ¢
= ¥ v =
— : ’ . —
| — 1+ | | | | | | | | | | | | | | | | |
:l T T T T | T T T T | T T T T | T T ‘|:
- =

L

~ 150
A/ degrees

Rivet 3.1.0, > 5.8M events

mcplots.cern.ch [arXiv:1306.3436]

N




	Contents
	Page 1


